#t 2 Ivo

REESLE KRR

QAN
1=z

202545 A8H

R R

#Ht R #fT&R B
(O—KF&ES 8198 RIIRAVA—KTii5)
E %R =&
REETEAD R

MEEEX

i
1=

(&

202652 A 4AE R X LEAIELER
20254 A EDFE ELERIELEFERICEAL. FitDEBYEMLELV-LET,
1. BRGELEZEORR

NDamBEHAE#
fEE AR

i 053-421-7000 )

20254E3 A ~20264F2 A (BA{3I: %)
38 48 58 68 78 8H I
=r= | £ & 1040 [ 1045
o | EIRE 1026 | 103.3
% £ & 102.9 102.0
giﬁ}% 101.4 100.8
. £ 101.2 102.5
& R EIFRE 101.2 102.5
— E B £ |5 105.6 105.8
AH giﬁ}% 105.6 105.8
- . £ 95.8 96.9
RLR¥ TmeE 959 96.9
98 108 118 128 1H 28 THR FET
= = 2 IE 104.3
L= giﬁ}% 103.0
. = 102.4
EE giﬁ}% 101.1
. = 101.8
== -Riii gﬁ}% 101.9
_og & 105.7
ﬂﬂ$1ﬁ giﬁf_% 1057
— - = 96.4
RL=¥ S 96.4

GE)1. RRELIE. REANET 2 HxkE. HER127y AR ABLERH R UHAEERERELZAIELTT,
2. RAMRELLEICIFZIRE—RF—F Y- R R avTRFEATEYEE A,
3. RERFEERFLDLDERYFET,
4 BNERDOT—4THY. FEDEHD FEFATEYFEA,

2. [EEEBORR

3H 48 5H 68 71H 8H L Hf
;s 0 0
E IS 0 0
[EEREL 244 244
98 108 118 128 18 28 THA 25t
;s 0
E IS 0
[EEREL 244
GE) B - BIEICERIS5Y T 7ORE LRI KD ERESHET .
KZSE> R (202552 #8) 0 A X5E L BRIFEL (%)
24/3H 48 58 68 7H 88 LA
== el 105.8 103.5 101.5 104.5 101.9 1064 | 1040
e G 104.1 102.3 1004 | 1034 100.8 105.3 102.7
98 10A8 118 128 | 25/18 28 THA 1B HA
= = 2 J5 101.1 998 1041 1038 1034 1021 1024 103.2
t-E TR E 100.1 98.9 102.8 1028 | 102.2 100.9 101.3 102.0

U E




SOV P IAVER: V1S B k) T

20264FE2 A B xEE

(BEAST : %)
25/38 48 58 68 78 8A 98 108 118 128 26/18 2R Fit 358 | 688 | EFH|9-11A | 1228 | T¥H#

F L B2 E HEA 104.0 104.5 104.3
F&t 104.0 104.3

FIRELL B A 102.6 103.3 103.0
F5t 102.6 103.0

= #e E HA 102.9 102.0 102.4
F5t 102.9 102.4

FIRELL B A 101.4 100.8 101.1
F5t 101.4 101.1

E B & E EA 101.2 102.5 101.8
F5t 101.2 101.8

FIRELL B A 101.2 102.5 101.9
F5t 101.2 101.9

— S E@EeE E EA 105.6 105.8 105.7
F5t 105.6 105.7

FIRELL B A 105.6 105.8 105.7
F&t 105.6 105.7

BELaAHe E HBA 95.8 96.9 96.4
F5t 95.8 96.4

FIRELL B A 95.9 96.9 96.4
RET 95.9 96.4

GE) 1. FREL L. BEANB T 2FHEMkE. BIER127 ANRABLEEHRUBAHEREARLMELTT, 2 RFAELICESRI—F—FY-FZR avTEFEHTHEYEE A,
3. HEFTESHLOLOLAYET, 4 BRNEHOT—2THY. PEDEHDETEENTEYEE A,

ooOE E & 0 0 0

B 0 0 0

EOH % E 244 244 244

GE) HRIESH-BAHERICIZIRISYTTURELRIZKBERESHET

108.0

106.0

U0 FEREHS

== ERETE LD

= IR R

104.0

102.0

100.0

—
—

25/3A

48 58 68 7R

8A

9A 10A

1A

128

26/18

2R




xiIT137 B DA 2

VYR 2 HR B B KT LR

(BAsr - %)

24/4 1 58 64 718 8H 98 108 118 128 25/1H8 28 38 4R
& £ Bl E BA 103.5 101.5 104.5 101.9 106.4 101.1 99.8 104.1 103.8 103.4 102.1 104.0 104.5
REt
EI#REL BA 102.3 100.4 103.4 100.8 105.3 100.1 98.9 102.8 102.8 102.2 100.9 102.6 103.3
REt
= #e 5 BA 103.1 102.5 104.1 102.9 104.5 102.2 101.1 103.6 102.8 102.9 100.2 102.9 102.0
REt
EIfREL BEA 101.5 101.1 102.7 101.2 103.4 100.9 100.1 102.2 101.8 101.8 99.2 101.4 100.8
REt
T OB ffile 5 BA 100.5 99.0 100.4 99.0 101.8 98.9 98.8 100.5 101.0 100.5 101.8 101.2 102.5
REt
EI#REL BA 100.8 99.3 100.7 99.6 101.9 99.3 98.9 100.6 101.0 100.4 101.7 101.2 102.5
REt
—mEffile F BA 102.5 103.9 103.8 101.5 104.5 102.0 102.6 103.0 103.4 104.5 105.4 105.6 105.8
REt
EI#REL BA 102.6 103.9 103.9 101.6 104.4 102.0 102.6 103.0 103.5 104.6 105.5 105.6 105.8
REt
BEEA%4e 5 HA 98.0 95.3 96.8 97.5 97.5 97.0 96.3 97.6 97.7 96.1 96.6 95.8 96.9
REt
EI#REL BA 98.2 95.6 96.9 98.1 97.6 97.4 96.3 97.8 97.6 96.0 96.5 95.9 96.9
REt
GE)1. IR X, RIE AN BT 23 H%RE. HER 12y AN EBLEEHEUVHEEHEAZLE-MELTT,
2. FERBLICEIRE—R—FY-F 2R avTIEEATEYEE A,
3 HEFEBRFLDEDELYET,
4. BNEHOT—2THY. PEDEHF EEFNTEYFEE A,
R OE & 0 0 0 1 0 1 0 2 0 0 0 0 0
B 0 0 0 0 0 0 0 0 0 0 0 0 0
E W % F 240 240 240 241 241 242 242 244 244 244 244 244 244
GE) FRIEH -FAEERICIIRISYTTUREIRIZEPEREEHET
g PURIRIERS | RS S ——FRREH
106.0
104.0 A
102.0
100.0 \/\
98.0
96.0

24/48 5A 6A 1R 8A 9A 108 1A 12R 25/1R

2R

3R

48




